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Unit 1

  1	 log264 6=
  2	 125 53=
  3	 loge wt12( )
  4	 4 3log p

  5	 log – log10 103 5r( )
  6	 –3

  7	 34

  8	 6

  9	 2

10	13 67 3801cos – .x( )°

11	 5 36 8698sin .x +( )°

12	 53 4 991cos .x +( )
13	 34 5 2528sin .x −( )
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answers

	 b	

18	 3

19	 a = 3
	 b = 2
	 c = π
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20	 a

b
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21	 a	 x + 1

	 b	 domain ≥ 2
	 c	 range ≥ 3

22	 a	 h x x( ) = ( )3 2sin

		  0 3≤ ≤h

23	 a	 f g x x( )( ) =
	 b	 f and g are mutually inverse.

24	 2 7x –
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26	 No

27	 a	� No. AB q AC
→ →

≠ ×  where q is a 
constant.

	 b	 see (a) above.

28	 Assuming T is nearer to R than to U:
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